R(1st Sm.) - AECC-1.1 Chg/Comm. English/CBCSj

(B.Com. Hons. and Gen. Candidates)

2020
AECC-1.1 Chg

COMMUNICATIVE ENGLISH
Full Marks : 80

The figures in the margin indicate full marks.

‘For B.Com. Honours and General Candidates.

[For Candidates of 2018-2019 batch and onward Vide CSR/10/18 Dated 30.05.2018]

Please mark the correct alternatives.

Group -

A

Correct the following sentences by choosing the correct alternatives.

. Neither Rita or Geeta can sing.

(A) Neither Rita nor Geeta can sing. B)
(C) Neither Rita can sing or Geeta. (D)

. Those trouser are cotton made.

(A) Those trouser is made of cotton. (B)

(C) Those trousers are made of cotton. (D)

. Shusma and Monika enjoys hiking.

(A) Shusma, Monika enjoying hike. (B)
(C) Shushma and Monika enjoys to hike. (D)

. The equipment were broken.

(A) The equipment were broke. (B)
(C) The equipments were broke. (D)

. The match abandoned because bad weather.

(A) The bad weather abandoned the match.

Neither Rita or Geeta sings.
Neither Rita and Geeta sing.

Those trousers is made of cotton.

Those trouser are of cotton made.

Shushma and Monika are enjoy to hike.

Shushma and Monika enjoy hiking.

The equipment was broken.

The equipments are breaking.

(B) The match was abandoned because of bad weather.

(C) The match were abandoned because due to bad weather.

(D) As because of bad weather the match was abandoned.

. Man are a social animal.

(A) Man is a social animal. (B)

(C) Man is a social animals. (D)

Men are a social animals.

Men is a society animal.
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7. The leader gave a speech.
(A) The leader gave a speak. (B) The leader delivered a speech.
(C) The leader make a speech. (D) The speech gave by leader.

8. If you did not hurry you will miss the bus.
(A) If you do not hurry you will miss the bus.
(B) If you do not hurry you will fail the bus.
(C) If you do not hurry you will lose the bus.
(D) If you do not hurry the bus will leave you.

9. The boys assembly in the hall.

(A) The boys assembled in the hall. (B) The boys in the hall assembly.
(C) The assemble of boys in the hall. (D) The boys in the hall assembled.
10. I have no excess to her office.
(A) I have no excuse to her office. (B) I have no accuse to her office.
(C) I have no access to her office. (D) T have no assess to her office.
Group - B

Choose the correctly transformed sentence according to the given instruction.

11. Their glory will never fade. (Interrogative)
(A) Their glory will never fade!
(B) Their glory shall never fade.
(C) Will ever fade their glory?
(D) Will their glory ever fade?

12. I wish I were young again. (Exclamatory)
(A) If only I were young again!
(B) I wish for my young age!
(C) Only I wish to be young.
(D) Oh to be young! is my wish.

13. Vandana visited many places. (Interrogative)
(A) How many places did Vandana visit?
(B) Didn’t Vandana visit many places?
(C) When did Vandana visit many places?

(D) How did Vandana visit many place?
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Will you stay away from the water? (Imperative)
(A) Please dont go near the water. (B) Will you go near the water?
(C) Water! stay away. (D) Stay away from the water.

He is the fastest runner in the school. (Comparative)
(A) All the boys are faster than him. (B) He is faster than all the boys in the school.
(C) He is a faster runner. (D) No other boy is fastest than he.

He cannot go unless I consent. (Simple)
(A) He cannot go until I consent. (B) He cannot go without my consent.

(C) He cannot go without consent. (D) If I consent he cannot go.

We lost our way in the dark. (Complex)
(A) It was so dark that we lost our way. (B) The darkness made us lost our way.

(C) In the dark our way was lost. (D) In the dark we lose our way.

He ran away because he was afraid (Compound)
(A) Being afraid he ran away. (B) On being afraid he ran away.

(C) He was afraid and so he ran away. (D) He ran away because of fear.

It is certain that he will come (Simple)
(A) He will come and that is certain. (B) He will certainly come.

(C) He will come certainly. (D) He will come and I am certain.

He is cleverer than his sister (Use clever)

(A) His sister is clever than him. (B) He is as clever as his sister.
(C) His sister is not as clever as him. (D) His sister is clever to him.
Group - C

Choose the true statement from each of the two passages.
Passage 1

An elephant’s scent is acute, but its vision poor. It was not till the hyenas were in the camp that Gajpati
saw them. The sight made him rage angrily, straining his bonds. All this time he knew exactly where the
baby was, beneath him, sometimes under his belly, and sometimes between his forelegs. 4x5

Choose the true statement :

(A) The elephant’s sense of smell is poor.
(B) The elephant’s sense of smell is acute.
(C) The elephant cannot smell.

(D) The elephant sense of smell is average.
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Choose the true statement :

(A) The elephant has good vision.

(C) The elephant cannot see.

Choose the true statement :

(A) Gajpati was an elephant.

(C) Gajpati was a baby.

Choose the true statement :

(A) The hyenas were inside the camp.

(C) The hyenas were far from the camp.

Choose the true statement :

(4)

(B)
(D)

(B)
(D)

(B)
(D)

(A) The sight of the hyenas made Gajpati happy.

(B) The sight of the hyenas made Gajpati angry.

(C) The sight of the hyenas did not bother Gajpati.

(D) Gajpati felt afraid of the hyenas.

Miss Gamla came right down to the edge of the canal, waving her stick, trying to connect with any part
of Raju’s anatomy that could be reached. The ferrule of the stick caught him on the shoulder. She made
another lunge at Raju and this time I caught the end of the stick and pulled. Instead of letting go of the
stick, Miss Gamla hung on to it. On impulse I gave it a short sharp pull and to my horror both walking

stick and Miss gamla tumbled into the canal. 4x5

Choose the true statement :

(A) Miss Gamla came to the edge of the pool.

(B) Miss Gamla came to the end of the road.

(C) Miss Gamla came to the edge of the canal.

(D) Miss Gamla could not walk.

Choose the true statement :
(A) Miss Gamla struck Raju on his head.

(B)

The elephant has poor vision.

The elephant has acute vision.

Gajpati was a hyena.

Gajpati was a human.

The hyenas were outside the camp.

The hyenas had surrounded the camp.

Passage 11

Miss Gamla struck Raju on his chest.

(C) Miss Gamla struck Raju on his shoulder. (D) Miss Gamla struck Raju on his arm.

Choose the true statement :

(A) Miss Gamla carried a cane.

(B) Miss Gamla carried a walking stick.
(C) Miss Gamla used a walker.

(D) Miss Gamla used a wheel chair.
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30.
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Choose the true statement :
(A) Miss Gamla threw away her walking stick.
(B) Miss Gamla broke her walking stick.
(C) Miss Gamla let go of her walking stick.
(D) Miss Gamla hung on to her walking stick.

Choose the true statement :

(A) Miss Gamla fell on the road.

(B) Miss Gamla tumbled down the stairs.
(C) Miss Gamla tumbled into the pool.
(D) Miss Gamla tumbled into the canal.
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